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QID : 201 - In the following question, select the related word from the given alternatives.
Chicken:Hen::?:?

FrfeRe ner 3 Ry g e 8 @ weifde = & gfm
qfpffii2:?

Options:

1) Horse : Mare
oigT ; gt

2) Rabbit : Goose
R : R

3) Bull: Doe

et ; fReoft

4) Boar : Foal
S[ERY : TS I TS

Correct Answer: Horse : Mare

oYer: gigt

Candidate Answer: Horse : Mare
oI

QID : 202 - In the following question, select the related word from the given alternatives.
Mason : Plumb line::?:?
FrfafeEa va F Ry o et 7 3 w&fda o= & gfwl

T EgE A2 ?
Options:

1) Surgeon : Scalpel

N : ggfant

2) Sculptor : Spade

3) Blacksmith : Forcep
e : e

4) Gardener : Saw
SIS @3RI

Correct Answer: Surgeon : Scalpel
M :

Candidate Answer: Surgeon : Scalpel
A/ '

QID : 203 - In the following question, select the related letters from the given alternatives.
BKPG : DNRJ :: CMOG : ?

el v A Ry g et & @ g4fda sl o gfwl

BKPG:DNRJ::CMOG:?

Options:

1) DoQl

2) EPQJ

3) EQPJ

4) EQJP
Correct Answer: EPQJ
Candidate Answer: EPQ.J

QID : 204 - In the following question, select the related letters from the given alternatives.
DHPQ : ZDLM : : SWIY : ?
Frfafea nu 7 fig g et 7 @ 9fda sreri & gfal

DHPQ : ZDLM:: SWIY :?



Options:
1) OSEU

2) OSUE
3) OESU

4) OTDV
Correct Answer: OSEU
Candidate Answer: OSEU

QID : 205 - In the following question, select the related number from the given alternatives.
256:290::961:7?
Freafeta ner & g g et § & wefdg den w5t g

256:290::961:7
Options:

1)1011

2)1017

3) 1025

4) 1023

Correct Answer: 1025
Candidate Answer: [ NOT ANSWERED |

QID : 206 - In the following question, select the related number from the given alternatives.
14:194::16:7
Frfeaa ny F Ry g et § & Sefla g w gl

14:194::16:7
Options:

1) 254

2) 256

3) 258

4) 260
Correct Answer: 254
Candidate Answer: 256

QID : 207 - In the following question, select the odd word from the given alternatives.

FrafefEa na J Ry g R § & R e w1 gfwl

Options:
1) Farmer
foram

2) Blacksmith
3) Cobbler
Hrft

4) Helper

Hgdsh

Correct Answer: Helper
HEAH

Candidate Answer: Helper
Hgdsh

QID : 208 - In the following question, select the odd word pair from the given alternatives.

frfeaa us & g 7y et § @ fawm e gm at gfag)

Options:

1) Mumbai : President's House
- pufy oes

2) Delhi : Parliament

feeft : T

3) Nagpur : Centre Point

AR : e foeg

4) Hyderabad : Charminar

BTG | ARAMR

Correct Answer: Mumbai : President's House

g : TRl e=

Candidate Answer: Mumbai : President's House
: REC)

QID : 209 - In the following question, select the odd letters from the given alternatives.

frfafea wa F iy g faredt 7 & faww arert &t gfw



Options:
1)AZ

2) MN
3)1S
4)GT

Correct Answer: IS
Candidate Answer: IS

QID : 210 - In the following question, select the odd letters from the given alternatives.

Frafefaa wu d Ry my et 3 @ fwm srert &1 gfwl
Options:
1) LNPR
2) HJLN
3) SUVX

4) BDFH
Correct Answer: SUVX
Candidate Answer: SUVX

QID : 211 - In the following question, select the odd number pair from the given alternatives.

Frefofea na & g my et & @ foum e gm =t gl
Options:

18

2) 27

3)49

4) 216
Correct Answer: 49
Candidate Answer: 49

QID : 212 - In the following question, select the odd number pair from the given alternatives.

FrfefEa na F Ry g Reedt § 3 Rvm der gm w gl

Options:
1) 123 - 321

2) 456 - 654
3) 789 - 978

4) 678 - 876
Correct Answer: 789 — 978
Candidate Answer: 789 — 978

QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Clone
2. Climate
3. Clutter
4. Create
5. Clapped

Frfea sl ot eregarian A 3 a1t s & agER ol

1. Clone
2. Climate
3. Clutter
4. Create
5. Clapped

Options:
1) 52143

2) 51234
3) 52134

4) 53124
Correct Answer: 52134
Candidate Answer: 52134



QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Lasted

2. Loop

3. Lake

4. Litter

5. Listed

Frfaf@a sreel &t reaeriar § o arel sm & argar ford)

1. Lasted
2. Loop
3. Lake
4. Litter
5. Listed

Options:
1) 31542
2) 31254
3) 31245

4) 31452

Correct Answer: 31542

Candidate Answer: 31452

QID : 215 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
B,D,H,N,?

e 3rfsRA R man g, oo @ uas ug g &1 Ry et A § g o Reew g, St srgemh o g v

B,D,H,N,?

Options:

)T

2)u

3V

HwW

Correct Answer: V

Candidate Answer: V

QID : 216 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AAA, BCD, CEG, ?

e S T T 2, T & ek Ue e &1 e e et § @ 9 Tt e g, Y rgehd o O Rl

AAA, BCD, CEG, ?

Options:
1) DGI

2) DFI

3) DGJ

4) DJG

Correct Answer: DGJ

Candidate Answer: DGJ

QID : 217 - In the following question, select the missing number from the given series.
127, 63,31,15,7,7

Fr=fefed wer & &g 7y foeedt § & g of 719 FifSg)

127,63,31,15,7,?
Options:

1)2
2)3
3)4

4)5
Correct Answer: 3
Candidate Answer: 3

QID : 218 - In the following question, select the missing number from the given series.
2,22, 198, 1386, ?
FrfefEe uw J Ry g el 5 @ g i 79 HifSig

2,22,198,1386,7



Options:
1) 2770

2) 3990
3) 6930

4) 9702

Correct Answer: 6930

Candidate Answer: [ NOT ANSWERED |

QID : 219 - A is taller than B. C is taller than D, but shorter than E. B is shorter than D and D is taller than A. Who is the tallest?

A B d=TEIC,D ¥ a8 W E & SteT &1 B, D 4 BieT & 9uT D, A & 77l &1 Tad o & 82

Options:
1)E

2)C
3)B

4)D
Correct Answer: E
Candidate Answer: E

QID : 220 - If 'A + B' means ‘A is father of B','A — B' means ‘A is mother of B, 'A * B' means ‘A is brother of B' and ‘A % B' means ‘A is sister of B, then how is Q related to
SinP+Q*R-S87

afe'A+B & 3f'A Barfaarg, A-B wr3rf'A BRATIE, A*B' ararf A BRI UE g dM'A% B wIaf'A BHiagTg 8 @I'P+Q*R-S'#Q,S ¢ fory uhR dafda 87

Options:
1) Husband
ofd

2) Uncle
HHT

3) Brother
g

4) Father
foar

Correct Answer: Uncle
HHAT

Candidate Answer: Uncle
HTHT

QID : 221 - P is shorter than Q but taller than T. R is the tallest and S is shorter than P but not the shortest. Who is second last in the descending order of height?

PQU B g wg T § 7T g R 999 o7l § a1 S, P & BieT § TRg Ta4 Sia 781 ¢ T8 o 9ea Y &7 # Sifom § quar e 87

Options:
1P

2)Q
3)s

HT
Correct Answer: S
Candidate Answer: S

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.
QUALIFICATION

Frafafea e 3 § gg = g st Ry 7o g & siert &1 wab s T8t g 5 adarl

QUALIFICATION

Options:

1) LIAR

2) FIAT

3) LION

4) FICTION
Correct Answer: LIAR
Candidate Answer: LIAR

QID : 223 - In the following question, select the word which cannot be formed using the letters of the given word.
POSSESSION
Frfafea e 7 § ag ez g St Ry 7 arsg & srert o1 waht o T8 & S Sehar

POSSESSION



Options:
1) SESSION

2) POSE
3) POISE

4) OBSESS
Correct Answer: OBSESS
Candidate Answer: OBSESS

QID : 224 - In a certain code language, "RANGE" is written as "FIQEW" and "ARAGE" is written as "FIDVF". How is "PRANK" written in that code language?

Uk fafare wie v &, "RANGE" &t "FIQEW" foraT &IaT & a1 "ARAGE" & "FIDVF" forar SITaT &1 39 ohis 9mon # "PRANK" ot féh wremTR fera simaem?

Options:
1) MQEWV

2) LPDVU
3) UVDPL

4) VWEQM
Correct Answer: LPDVU
Candidate Answer: [ NOT ANSWERED ]

QID : 225 - In a certain code language, "HAUNTED" is written as "4013592" and "RINGED" is written as "763892". How is "HINGE" written in that code language?

e faf3re wis wrer &, "HAUNTED" @ "4013592" for@r <Tar & @41 "RINGED" @t "763892" forar STidT & | 39 his 7T # "HINGE" @t foher wop forar smaam?

Options:
1) 36589

2) 57864
3) 40359

4) 46389
Correct Answer: 46389
Candidate Answer: 46389

QID : 226 - If "P" denotes "divided by", "R" denotes "added to", "S" denctes "subtracted from" and "Q" denotes "multiplied by", then
48P4R3Q456Q4="7
g "P" &1 aref "um” &, 'R T o1ef 'SiS" B, 'S" o 3ief "wera” & @un Q" o ordf '1pom” &, &t

48P4R3Q4S56Q4="7
Options:

1) 20

2)1

3)6

4)0

Correct Answer: 0
Candidate Answer: 0

QID : 227 - In the following question, correct the equation by interchanging two numbers.
9%x3-8+2+7=26
Frefeiea uer & fonet & st &t smae & TeER seeek 8T Ty Tt o gl Hifem

9x3-8+2+7=26
Options:

1)3and7

3qur7

2)9and2

9qur2

3)7and9

7aur9

4)3and 8

3qur8

Correct Answer: 7 and 9
7aur9

Candidate Answer: [ NOT ANSWERED |

QID:228-1f9811a2=40and130812a3=75,then408641a5=7

gfZ9811a2=409u13012a3=758,d140041a5=7
Options:

1) 340

2) 365

3) 320

4) 405

Correct Answer: 405

Candidate Answer: 405



QID:229-1f8a 48,12 a 120 and 15 a 195, then what is the value of ‘A'in 19 a A?

af& 8 a 48,12 a 120 3T 15 a 195 &, d 19 a A H, 'A' &I AT T g2

Options:
1) 323
2) 347
3) 360
4) 312

Correct Answer: 323
Candidate Answer: 312

QID : 230 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

eafea s # Br o7 foeut & @ uy R
(?) & TUE W A arelt FEAT  Ffam)

7 8 2
2 3 3
4 1 g
5 6 4

Options:

1)1

2)2

3)4

4)6

Correct Answer: 6
Candidate Answer: 6

QID : 231 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Arafafla sy # Gy or et # @ uy e
(?) & TUE W A areh F&AT B AT

11 2 4 98

3 6 5 100
8 9 1 ?
Options:
1)72
2)75
3)88
4) 82

Correct Answer: 82
Candidate Answer: 82



QID: 232 -

How many quadrilaterals are there in the given
figure?

& o3 argla A feae TgT 2

3. e
\\\ e .
“\\ ///
> & \\\\
7 ™
Options:
1)13
2)15
3)17
4)19

Correct Answer: 17
Candidate Answer: 15

QID : 233 -
How many rectangles are there in the given figure?

& T i A TFaa 3aa €2

Options:
1)15

2117
3)19

4) 23
Correct Answer: 15
Candidate Answer: [ NOT ANSWERED |

QID : 234 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All pens are cups.
II. All glasses are cups.

Conclusions:

|. Some pens are glass.

Il. Some glasses are cups.
lll. Some glasses are pens.

A= R 77 v us F 38 Y 9 I 18 3 FwuEl W sl g e Ry 1y § greifes 3 g Fa a2t @ foman g wedt 81 gt e ud oz i Peffa = e Ry
Y RiF & e, Ry 7g e o SR W giReeTa §

Y
| aft o smu g
11, goft e g €

fAreend:

|. & U = &
II. o T Y E
I1l. T 7 O &



Options:
1) Only conclusion (1) and (111} follow
haet frend (1) qur e (111) Tt &
2) Only conclusion (1) follows
haet e (1) gt &
3) Only conclusion (11) follows
hae fsend (1) Tt &
:%éNo conclusion follows
ot e wet 7 €

Correct Answer: Only conclusion (Il) follows

hae frend (1) Tei &

Candidate Answer: Only conclusion (1) and (lIl) follow

ae Freend (1) aat Frsad (1) wdt &

QID : 235 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. No pens are pencils.

Il. No eraser is cup.

Il. All pencils are erasers.

Conclusions:

|. Some pens are not erasers.
Il. Some erasers are not pens.
Ill. No pencil is cup.

IV. Some erasers are cups.

i Ry 7 vl v A 3 Sy 9k 3 918 39 Syl we setRa 3w e Ry e €, g1eifes 38 amr e awt @ e gt et 81 Tt e 02 ok i fraffa R s g
MY R & e, Ry 7g et & SR W gReeTa g

hYU:

. &g o of Tt &1
II. I TR & T g1
111, goft 4t TR &

fAreend:

. & U7 @R T8

Il $® R U7 Tl &

I11. =RYS Gifier g e &1

IV. B W AT EI

Options:

1) Only conclusion (I) and (IV) follow
e frean (1) aut Feend (1V) &8 &

2) Only conclusion (1) and (Il1) follow
hae ey (1) Tur Fewd (1) T8 &

3) Only conclusion (11} and (1l) follow
Feret e (1) o s (1) Tt &

4) Only conclusion (11} and (IV) follow
et Freen (11) @ e (IV) 98t &

Correct Answer: Only conclusion (I1) and (II) follow

e e (11) e Fsat (1) w8 &

Candidate Answer: Only conclusion (1) and (lIl) follow

Faer e (1) o Presd (1) @@ &

QID : 236 -
From the given options, which answer figure can be
formed by folding the figure given in the question?

Aeafoiaa eeul # @ FiF @ 397 angfa o
3 & 7 e T Asw oS o gedr 7




Options:

4)
P
”
Correct Answer:
o

Candidate Answer:
o T

QID : 237 -

Two position of a cube are shown below. What will
come opposite to face containing ‘&7

o o O Fr & gEu AT i ¥ & IH
Foleh & ToufE Far smden?

Options:
1)

2)%

3)8

4) None of these
4 G e Tt
Correct Answer: *
Candidate Answer: $



QID : 238 -

In the given figure, which number represents plastic
tables which are wooden?

& % 3l & FlF o 3 NN caieE A=
St SRSt §, @Y Rt &2

Plastic/ | g~/
CATTEEH

Options:
1)3

2)5
3)7

44
Correct Answer: 4
Candidate Answer: 4

QID : 239 -
In the given figure, which number represents brown
animals which do not have tail?

& o8 el & PF @ 3E W FER
o o a8 € & gfar &2

Animals/

Options:
1)7

2)4
3)5

4)6
Correct Answer: 5
Candidate Answer: 5



QID : 240 -

In the given figure, which number represents the
paint brush which is not hair?

& o ey &, Fla W 3iF W FS A= g S
arer aEt §, @ g ¥

Brush/ar —» . 5|6
4 | S— —
<+ Hair/drer
7
Options:

104
2)3
3)5
4)2

Correct Answer: 2
Candidate Answer: 2

QID : 241 -

Which answer figure will complete the pattern in the
question figure?

HiT O IR FFT UF Fpla & ufawT H @
HLN?

I'r\N
e

*~J

Options:
1)




Correct Answer:

A

Candidate Answer:

.\

QID: 242 -
Which answer figure will complete the pattern in the
question figure?

Hled W 3R HFA T HPfad & TasT & G
HL?

VAN
1%

Options:
1)

4)

Correct Answer:

N\

Candidate Answer:

N\




QID: 243 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% IR wpfal & @ 3w 3 e & glaw
orw & uw sy BT &

3

Options:
1)

\" b‘J
P

\'4 F:
o

3)

4)

|| || P

Correct Answer:

-

A\ |

M

Candidate Answer:

\" ‘.‘J
.

2\

QID : 244 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 IR gAYl # ¥ 3W IR A & g
o & uwy el BT &

9,




Options:

-
—

)
~

e I I

W
~

4)

Correct Answer:

ik

Candidate Answer:

ik

QID : 245 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & wy Fplad # R HgER Fee #
AZHFT D IUT Wl & a1g 9g FE 39T HTHfa
ST s &am?

)14 114




Options:

1)

W
~

4

=

©po 09

Correct Answer:

o 0°

Candidate Answer:

o 0°

QID : 246 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F oy Wgladl A BEmw wgER FEe B
AZHT D TWT Wiod F aIg a8 Y 39X FHY
star g game

X ¥
SR %

2




Options:

1)

4)

MXENEE

Correct Answer:

L

Candidate Answer:

L

QID : 247 -

If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE e YUT F AB T UT @1 AT, A & T
IR HEAal A § dla @ HPla o Jga &
e ufafesa gefre

\ o




Options:

1)

]
2)
a
3)
a
4)
O

Correct Answer:

Candidate Answer:

QID : 248 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE U UUT AT AB T W @ ST, & & TS
IR ATl # @ wa O spfa uy gl &
e ufafesa aefr?

LA




Options:
1)

2)

3)

4

w| @] M |

Correct Answer:

<

Candidate Answer:

<

QID : 249 -
A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘L’ can
be represented by 11, 42, etc., and ‘A’ can be represented by 65, 96, etc.
Similarly, you have to identify the set for the word “FISH”.

UG QqeG hdd U TEIT-HHE GRT GIT [T &, otar 5 faweur A @
ol v & Gar mam %1 fAweut & Bu v dwr-weg IaRt & or a9t
g geifw e &, Star 6 fQu arw Y smegyl A ¥ 3l B waFH 3R
Ufeh & T 0 & 4 § 3R 3yl A 53 9 39 IR T TH HaRW N
el 3adr ufth 3R arg F TaF AT gRT GRAT S AhAT ©1 3GIeI0T
» o L o#r 11, 42, TG gRT GRAT ST Thar ¥ GRT ‘AT B 65, 96,
3nfe gry gifar S Hepar &1 =@ oRE @ U wH A QU e FISH
& o T @ uggEEr B

Matrix-I Matrix-ll

I JgE-ll
B 172 & 4 5161789
HGCAET R TESI P E 5 H|SIE|A]|P
11 F | BB | W[ 6 (A[IP[FRHI]S | E
R | 3EltE | =hE 7 I =E | AP IH
L. [ [ ¥ (e 8 (P H[S[E|A
POEAR S NE 9 E|A|P|H|S




Options:
1) 66, 00, 68, 14, 76

2) 95,44,87,33,88
3) 89,32,75,42,69

4) 57,13,99, 20, 58
Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED |

QID : 250 -
A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘M’ can
be represented by 22, 44, etc., and ‘T’ can be represented by 67, 96, etc.
Similarly, you have to identify the set for the word “CROPS”.

T A dhaol T TEAT-GAE GRT GRAMT TR &, otar 6 fasedt & &
ol v A fGar ar {1 Aweut # Bu v dEar-adg 3ERT & o 9ol
gRT goifw 9w §, Skar &5 RQu v ot neymt & ¥ ey & T 3R
Ufeh & AT 0 & 4§ 3R gl B 53 9] 39 YR T TH HEW D
Ugel sadr ufh 3R arg F T AT gRT G ST HhdT ©1 3GIeIOT
& o ‘M @ 22, 44, I ERT GRAAT ST T © ddT “T° & 67, 96,
G GRT GRMT ST Thal ©l 38 e & U ud d Ru kg
“cropPs” & T wWag M ugaEET B

Matrix-I Matrix-ll

3neyg-l -l
0412 3] 2 567|189
OM|C|O|S|N S| TIUIQI'E|R
1[C[N[S[M]|O 6P| RT[H]Q
2INIO|IM|C|S U | o [ PRIE
3|SIM|N|O|C 8lQ|PIRITE|U
4/O(S|C|IN[M gIR| TP

Options:
1) 13,68,10, 67,40

2) 42,89, 41, 85, 31
3) 34,75,33,79, 20

4) 13,56,24,95,14
Correct Answer: [ No Correct Answer |
Candidate Answer: 13, 56, 24, 95, 14

QID : 251 - In Indian economy, the sectors are divided into Private and Public on what basis?

ARG Srefege §, &1 ot rdstfre aut st & for smuR w arfiera forar irar 82

Options:
1) Ownership of enterprises
R

2) Usage of raw materials
HTeT T

3) Nature of economic activities
afefes nfafaferat &

4) Employment policies
Hifaat

Correct Answer: Ownership of enterprises
R @i

Candidate Answer: [ NOT ANSWERED |

QID : 252 - Which method is used to measure agricultural income in India?

IRA H R T Y ATI & g fohe ugfay ot v fma Smam 82



Options:

1) Expenditure method

=apag

2) Output method

SR UGl

3) Commaodity flow method

g atg ugfd

4) Input method

A

Correct Answer: Output method
IedTe UGt

Candidate Answer: Output method
SR UG

QID : 253 - Who estimated the National Income in India for the first time?

IR H AFT 31T &1 SIAF GauyH frae ammar?

Options:
1) Prof. P. C. Mahalanobis
Hither . =t Aeremife

2) Dr. V. K. R. V. Rao
21 &t &, e . T

3) Dadabhai Naoroji
ZrRTATE ARSI

4) M. G. Ranade

T, Sff. T

Correct Answer: Dadabhai Naoroji
ZrRTTE ARSI

Candidate Answer: Dadabhai Naoroji

raTTs AR

QID : 254 - GDP - indirect taxes + subsidies = ______

Sft. St Y. - s Y + e =

Options:

1) NNP at factor cost
ITE AT IR . g, oY
2) GDP at factor cost
ITe T uR St €t o
3) GNP

Sit. g .

4) Personal Income
iR o

Correct Answer: GDP at factor cost
Ieare AT uR Sft. g ot

Candidate Answer: GNP
ot g

QID : 255 - Establishment of Chittaranjan Locomotive took place during which Five Year Plan?
e Yerge @1 I WA Ry daadTa gt & SR 6 off?

Options:

1) Second

2) Third

dredt

3) Fourth

<reft

4) First

Correct Answer: First

Candidate Answer: [ NOT ANSWERED |

QID : 256 - What is the meaning of 'Laissez Faire Policy'?

rgEaey fifey o oref R &7

Options:

1) Fair legislation

froger fafer

2) Control over trade

AR R 4

3) Withdrawal of 'some restrictions'
‘5@ ufeel’ & ge ST

4) None of these

g @ e

Correct Answer: Withdrawal of 'some restrictions'
‘5o ufasl’ &1 ge ST

Candidate Answer: [ NOT ANSWERED |

QID : 257 - Who is the head of Municipal Corporation?

TR 7 o1 3remet i AT A7



Options:

1) Prime Minister
A

2) Sarpanch
T

3) Governor
REpEIct

4) Mayor
ek
Correct Answer: Mayor

Candidate Answer: Mayor

QID : 258 - Which form of government believes in giving equal rights and opportunities for women and men?

i ot geeR Afgerst qur geut &Y waE dfteR aur s & F Ry wadt 82
Options:

1) Feminist

2) Secularist

3) Castiest
SlREIC

4) Communalist
Correct Answer: Feminist

Candidate Answer: Secularist
o o

QID : 259 - What is the maximum period for which the vice president can act as the President in case of vacancy in the the president's office?

Tpufy oe & s 6 R § 30 agufy sifdieas foraf srafd & forg Tgofa & dk w wf o e 27

Options:

1) 3 months
3"eH

2) 6 months

6 WER

3) 1 year

1%

4) 2 years

299

Correct Answer: 6 months
6 HEH

Candidate Answer: 6 months
6 TE

QID : 260 - Currently, how many languages are recognized by Indian Constitution?

AT #, YR e F et srare i awear o 82

Options:
1) Fourteen

2) Fifteen
e
3) Sixteen

4) Twenty-two
EiE)
Correct Answer: Twenty-two

Candidate Answer: Twenty-two

QID : 261 - Which among the following is not appointed by the President of India?

Prfefea & @ i wRa & apuld g1 Feges =8 i o 27

Options:

1) Vice-President of India

IRT &

2) Judge of Supreme Court
= T o ety

3) Attorney General of India

AR & HgFIRargt

4) Chief Justice of India

AR & 7 =i

Correct Answer: Vice-President of India
URA &

Candidate Answer: Vice-President of India
AR &



QID : 262 - Which of the following article describes India also as Bharat?

frfetea & 9 i srgae 3§ sfosar ot wra i gt man &2

Options:

1) Article 1

DT 1

2) Article 2

T 2

3) Article 3

ST 3

4) Article 4

agE 4

Correct Answer: Article 1
ITDE 1

Candidate Answer: Article 1
T 1

QID : 263 - Which of the following writ is issued by a higher court to a lower court?

Frfe@a & & i a1 =i e IeaaR <maTerg e Fra) TaTer Y ST T £7
Options:

1) Habeas Corpus

<Y Treefenzor

2) Quo Warranto

T

3) Prohibition

nfarsrer

4) None of these
Bl

Correct Answer: Prohibition
e
Candidate Answer: Quo Warranto

=T

QID : 264 - The Loyal Muhammadans of India' was a newspaper by which of the following?

' A Jere- o1t 3fear Frafafea & @ frwe ge a9eR o ur?
Options:
1) Mohammad Ali Jinnah

37t g

2) Ashfaqulla Khan

SIMhTgheelg @I

3) Shaukat Ali

STeRd 3reft

4) Sayyed Ahmed Khan

Jug AgHe @H

Correct Answer: Sayyed Ahmed Khan
ez eHe @F

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - Who among of the following was the founder of society called 'Abhinav Bharat'?

‘31f AT WRa' e et it wreen FefafEa § & e & ofi?
Options:
1) Lala Lajpat Rai
SATAT ATTUT I
2) Bal Gangadhar Tilak
a1l TeR foete
3) Vinayak Damodar Savarkar
BIEEE T
4) Bipin Chandra Pal
fofte <z e
Correct Answer: Vinayak Damodar Savarkar

e TmieR TR

Candidate Answer: Vinayak Damodar Savarkar

fammaes grieR SRR

QID : 266 - First battle of Panipat was fought between which two armies?

it 1 e wreTE fohe & STl & dftg ot Y of?

Options:

1) Babur and Lodi Empire
AR qUT AL TE™

2) Britishers and Babur
forétar o s

3) Akbar and Hemu

Sfehel T 8H,

4) Akbar and Rana of Mewar
3THER AT HATS & 0T

Correct Answer: Babur and Lodi Empire
TR qUT AT FH

Candidate Answer: Babur and Lodi Empire
STeR JUT A} FrEey



QID : 267 - Arrange the following historical events in the chronological order of their occurrence.

|. Champaran Satyagraha
II. Partition of Bengal
lil. Jallianwala Bagh Massacre

frfea Afeis gemsil &t 37 FHreTraTgaR wafeRd &

|. SURYT HATIE

I1. STt fraTerT

11I. Siferaiaret an gaTeis
Options:

LI

2) 11,11, 1

3) 11,1,

4) 1, 10,1

Correct Answer: |l |, Il
Candidate Answer: II, |, 1]

QID : 268 - Which of the following civilization is famous for its city/town planning?

frfefEa & & s o gegar sow R faea & o ufag 82
Options:
1) Indus Valley Civilization
e arét waman
2) Mesopotamian Civilization
g1
3) Persian Civilization
ThTZH |1
4) Egyptian Civilization
e g
Correct Answer: Indus Valley Civilization
fRfe &t Tz
Candidate Answer: Indus Valley Civilization
e Tt Tz

QID : 269 - Which of the following is suitable for well irrigation?

Frafefaa & 9 o geif & R & forg Sugeh 87
Options:

1) Rock surface of Peninsula

uragy & g Tag

2) Dry surface/tracts of Rajasthan

T it gEft T/ AT

3) Costal Plains

Jérg e &

4) Deltaic region of Mahandi River
TGS &1 Seci &5

Correct Answer: Deltaic region of Mahandi River
HEHEY &l ST &

Candidate Answer: Dry surface/tracts of Rajasthan
TR T Gt TG/ AT

QID : 270 - Rotational axis of which of the following planet is highly tilted?
Frfefaa & & e g & goi= sre1 srefiies gen gon &7

Options:

1) Earth
guft

2) Uranus
37T

3) Neptune
g3

4) Jupiter

Correct Answer: Uranus
3_0T

Candidate Answer: Neptune
T

QID : 271 - Near coastal areas, temperature on land in day time gets reduced due to E

Jérg &1 & e ____ 3 oo %A & 999 4ff R aTaHE 9 g ST 21
Options:

1) Land breeze

o F9R

2) Sea breeze

g 9HR

3) Both land and sea breeze

oIt AT T gHR it

4) Sparsely populated coasts

Jel R




Correct Answer: Sea breeze
Tz Tk
Candidate Answer: Sea breeze

g FHR

QID : 272 - Which of the following city is located on the banks of river Potomac?

fRferfea & & @i &1 e dicen T4 & ue W fRd g2

Options:
1) Berlin
EICE]

2) Islamabad
FLATHTETG

3) Madrid
Aigs

4) Washington D.C.
anfaimes . =i,

Correct Answer: Washington D.C.
2 .

Candidate Answer: Madrid

QID : 273 - How much is the difference of time between any two consecutive longitudes?

forelt €Y FAaR 2aria”l & sfta To a1 aiaR fohamn glar &7

Options:
1) 10 minutes

10 e

2) 14 minutes
14 e

3) 4 minutes
4 fome

4) 30 minutes
30 fame

Correct Answer: 4 minutes

4 e

Candidate Answer: 4 minutes
4 e

QID : 274 - Which of the following is considered as physical basis of life?

Frefafea & & fand siam & it siur /T s 82

Options:
1) Cell wall
ifrenr

2) Cell membrane
3) Mitochondria

4) Protoplasm
(vietterre™)
Correct Answer: Protoplasm

Hiage (Hieieen)

Candidate Answer: Mitochondria

QID : 275 - Who of the following is known as 'Father of Zoology'?

Frafefaa & 9 5 'sig e o o= A/ ST 82

Options:
1) Darwin

2) Aristotle
SRE

3) Heckle
ohet

4) Edward Jenner

TedE SR

Correct Answer: Aristotle
SR

Candidate Answer: Heckle

QID : 276 - Which of the following branch of biology is related with study of heredity and variations?
Frafafea & & Sta g & ot < e srafimar aur fRfdearst & sremm @ g@efda 2



Options:
1) Microbiclogy
gefia-fam
2) Immunology
&
3) Genetics
9

4; Entomology

Correct Answer: Genetics
if2

Candidate Answer: Genetics
2

QID : 277 - Which of the following is NOT a vestigial organ in human body?

ArafefeEa & & w9 a1 a=a IRR & U RAfde e g1 87
Options:

1) Thymus Gland

T Y

2) Wisdom teeth

3Tehel il &1

3) Pharynx

T (ShReRT)

4) Thyroid gland

TR

Correct Answer: Thyroid gland
et

Candidate Answer: Wisdom teeth
37ehel & &1

QID : 278 - Bile is produced by which of the following gland?

1 7 9 forg o= # fig saféa gl &2
Options:

1) Liver

T

2) Kidney

3) Gall bladder
former

4) Spleen
faeett

Correct Answer: Liver
e

Candidate Answer: Gall bladder
o

QID : 279 - Which of the following cells secret insulin?

FrafafEa & & e ifReme & 3o & Rea g &2
Options:

1) acells

a sl

2) B cells

B iR

3) 6 cells

& ifArt

4) Nerve cells

a3t hifaremrd

Correct Answer: B cells

B iR

Candidate Answer: 3 cells

B wifrerd

QID : 280 - Mass of an objectisa ____.

T a%] T &9 G H!
Options:

1 ; Physical Quantity
HET

2) Fundamental Quantity
Hiferes AT
3) Scalar Quantity

Sifar 7T

4) All options are correct

gt Area T € |
Correct Answer: All options are correct

Tt RreT TEr €|

Candidate Answer: Scalar Quantity
sifeer AT



QID : 281 - When a bus starts suddenly, then passengers in the bus tend to fall backwards. This event is an example of .

T Qb I I § Tl 8, a9 99 & 48 gt b 36 oz e & forg vga 819 €1 98 geA _____ i e SaTeRuT 2

Options:

1) Inertia of rest
FIrscd

2) Inertia of motion

e 1 S

3) Inertia of direction

e @ STea

4) N%ne of these

Correct Answer: Inertia of rest
HIsTscd

Candidate Answer: Inertia of rest

e & e

QID : 282 - Momentum of an object depends on which factors?

I. Mass of the object
II. Speed of the object
Ill. Volume of the object

&g ol G o el )R R awear 27

|. I P segH =
Il aEg Frafa

I, &g < SmadT
Options:

1) lonly

Sad |

2) land Il only
lagril

3) land lll only
Il

4) 1, Iland Il
L aurin

Correct Answer: | and Il only

hae | daurll
Candidate Answer: [ NOT ANSWERED ]

QID : 283 - What is the approximate height of any geostationary satellite from earth’s surface (in km)?

ot speaefi Iuwrg i S gedft 6 gag @ e (6.4 F) frah gl 22

Options:
1) 36000
2) 45000
3) 48000
4) 30000

Correct Answer: 36000
Candidate Answer: [ NOT ANSWERED ]

QID : 284 - Which of the following is used to enter data and instructions into a computer?

FrfafEa & & Reaer wain srger # ster aun e ufae & & forg e smar 82
Options:

1) Software

IR

2) Output device
Smgeye fearsg

3) Malware

4) Input device

FYe fearsw

Correct Answer: Input device
Bk

Candidate Answer: Input device

e

QID : 285 - Which among the following has largest storing space?

fPrafefaa & O frgh gug emar g 31fde &7
Options:

1) Giga byte
firrerge

2) Mega byte
e

3) Tera byte
&ETEe

4) Kilo byte
fereitamge

Correct Answer: Tera byte



Candidate Answer: Tera byte

QID : 286 - Which among the following is a pure element?

FrafefEa § 9 o9 1 us g 9 87

Options:
1) Glass
<hld

2) Cement
e

3) Sodium
difsaw

4) Steel
ELein

Correct Answer: Sodium

Candidate Answer: Sodium

QID : 287 - Sodium bicarbonate is chemical name of which of the following?

Tifey FEcEMe A=l 3 9 e aarafes am 87

Options:
1) Baking Soda
Sk e

2) Washing Powder
FHIS U FI OIS
3) Plaster

TR

4) Fly-Ash
IeH I@
Correct Answer: Baking Soda

e T

Candidate Answer: Baking Soda
SfeT grer

QID : 288 - How is atomic mass number determined?

Ueh YRATY] 5o T ol 3 i e simar &7

Options:

1) By total number of protons

et HietHl & Twe gr

2) By total number of neutrons

e g1 Ft TE R

3) By adding number of protons and neutrons

el Tt T i1 Y TeeaT At

4) By total number of electrons

el elchglAl i [T BRT

Correct Answer: By adding number of protons and neutrons
et T auT AT & Tee st Sigaw

Candidate Answer: By adding number of protons and neutrons

el TSt T =i chl T ohl WGt

QID : 289 - Which of the following reaction is the main cause of energy radiated from Sun?

Frefafea & & ot o sifaftra of @ RfSRa g areht w1t @1 g @R 2
Options:

1) Nuclear fission

2) Nuclear fusion

o e

3) Chemical reaction
Tarfe iR

4) Diffusion reaction
Correct Answer: Nuclear fusion

Candidate Answer: Nuclear fission

QID : 290 - With which of the following is 'Van Mahotsav' associated?
‘g9 Agtcge Fefef@a § @ farad gefda &7

Options:

1) Cutting of trees

et Y e

2) Planting of trees

4

3) Genetic modification of trees
geit T STt uRad
4) Increase in crops

7 gerast



Correct Answer: Planting of trees
gagrigor
Candidate Answer: Planting of trees

JRIGoT

QID : 291 - Plants which grow in salty water near sea shore are called as

g, ¢ & e T ar & I arel dheif Y ed gl

Options:
1) Halophytes

2) Xerophytes

L

3) Heliophytes

SaufER

4) Saprophytes

CEEiC

Correct Answer: Halophytes

Candidate Answer: Halophytes

QID : 292 - How many ecological hotspots are present in India?

IR # fopat aRfefdes glewe &7
Options:

1)2

2)3

3)4

4)5

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED |

QID : 293 - The Union Ministry of Human Resource Development has launched a natiocnwide 'Students for Soldiers: Vidya Veerta Abhiyan' to display portraits of
decorated soldiers in education institutes.

T AT G FATed + Sifern et F T Rrgfie &t Fr omfEt & veda & forg tgedt wlew Bk Giewr: e divar sifar g R gl

Options:

1) Ashok Chakra

372iteh Teh

2) Mahaveer Chakra

HgTdtR =R

3) Paramveer Chakra

UWER 9

4) Veer Chakra

dR T

Correct Answer: Paramveer Chakra
TR

Candidate Answer: Paramveer Chakra
@A

QID : 294 - Who amongst the following gave the 'Periodic Law'?

a1t e Freferfea A @ e feam?

Options:
1) Carlton McGee
hIeie Aanft

2) Emil Fischer
g fihar
3) Charles Darwin

e e
4) Dmitri Mendeleev
fafy Aeefiw

Correct Answer: Dmitri Mendeleev
Heelh

Candidate Answer: Dmitri Mendeleev

At Aeeln




QID : 295 -
Match the following.

Teafefg & Fee it

Trophy / gifr Sport/ @e

1. Raniji Trophy a. Football
TOTSAT I Seard

2. Santosh Trophy b. Cricket
Farg g firpe

3. Agha Khan Cup c. Hockey
T @ &Y giehr

Options:
11-a2-b3-c

2)1-b,2-a3-c¢c
3)1-a,2-¢3-b

4)1-b2-¢3-a
Correct Answer:1-b,2-a,3-¢
Candidate Answer:1-b,2-3,3-c¢

QID : 296 - Which of the following pair is INCORRECT?

Prfaifla & & o a1 g e 22
Options:
1) Ghoomar - Rajasthan
TR — SRUH
2) Bihu - Bihar
- faer
3) Bhangra - Punjab
HIATST — Uolla
4) Lavani — Maharashtra
Aol - TERIE
Correct Answer: Bihu — Bihar
fag - R
Candidate Answer: Bihu — Bihar
fag - faer

QID : 297 - In the 64th National Awards, which Hindi film has been awarded the Best Hindi Film for the year 2016?

64 o T fthewt qrenrt A, for =3t e 1 2016 & Ta9s =<1 fihest ot qReenn féam mar &2

Options:
1) Neerja
Hiwem

2) Udta Punjab
ISaT e

3) Dangal

aTTel

4) Sultan
e

Correct Answer: Neerja

Candidate Answer: Neerja
s

QID : 298 - The book 'Hope in a challenged Democracy' is authored by .

‘g 3 o1 Aeive Al Fgm ot e 2
Options:

1) M. Veerappa Moily

T, SR Agedt

2) Sunita Narayan

gferar Ao

3) Dr. Ashwini Kumar

3. arfeft om
4) Anuradha Roy

ST I

Cgrrect Answer: Dr. Ashwini Kumar

g g Far

Candidate Answer: [ NOT ANSWERED ]



QID : 299 - With which country India has signed a bilateral contract for development and operations of Chabahar port?

TR &1 & T YR F AR SEwE o fe qun Hare o forg gk fusfir srey o) gwaner R g?

Options:
1) Israel
ForIgel
2) Iran

3) Tehran
GEiE

4) Turkey
Correct Answer: Iran

Candidate Answer: Iran

QID : 300 - 'Operation Pawan’ was a peace-keeping operation by India in its which neighbouring country?

TR Ua MR ZRT 36 fovey oeiefi e & foram o wen erifer wimom a7 SifoRer om?
Options:

1) Myanmar

HiHR

2) Bangladesh

q
3) Nepal
Eeic)
4) Sri Lanka

Correct Answer: Sri Lanka
Picea)

Candidate Answer: Myanmar
HHR



